A2

T0 T0

)

=
e

1A

[}

AlZF: 100

3|

[<]

g Al

T o
=

)

A 1A (A

2 A
2

=7t71E At

7 lEAt

A5

tAl2. (Z103)
350~370 2/Eo|ct. Of

o

o

—

StAl=.

da5 2 (Ipcd)

JIE}
o

=9

pTEz
o |

10 23S Metsto] 4

3

EZ

=
S

(Adsorption equilibrium)

= Al

o

7|=A Al 87

% C}

100

N
0o
ol

©

JE=

—
—

b

1o}

7. ZAFHIAE (Jar test) S

M_
Hr

00

e
a
xJ
Hr
X0
wjr

=]

A0

=84

13. = (ZERE)A9



B A=A

74 74
o

=7t71E At

)

=
e

AlZF: 100

=

0 To

A 2 WAl (Al

3

=Mt Al 87

o0 __o._
& B

7 lEAt

A

=9

pTEz
o |

EZ

tAl=. (225 3)

)

eisto] 48

—r
__O._
—t

MJ

0l0

A2

CH=40]| Chot 2FS

[0 2E5HA L.

5}

3. 2750 the[eh At 0| et of

[0 2E5HA 2.

[

5. otr0f AOAM = EA A|LEOf O



=771 AHA4438 A EA

=Mt Al 87 = A 3 DAl (AIEAIZE: 100 £)

= e _ >3 A

of E5 zg e Fs M o
o —

SHsto] dEstAl2. (Z25 )

ol

% Chg 24l S 4 242 d
1. 24 7|1 A U S5 (g, A=, S, cable) 24 Al = (Shield)

SHYS HEote] ottt &5tk 7|SA2M 48 ARE YA,

2. 7|12 442 2F 1200mm oM 2Z 500mm 2 £7|(9IK) 2 A} otCH 27| 2AE
ot A&l L A2E|&= AHE S FHE=E HY|5HA2.



=771 AHA4438 A EA

=Mt Al 87 = AH 4 A (AI-AIZE: 100 £)

= e _ >3 A

of E5 zg e Fs M o
o —

% O3 24 § 4 24 dest] dFstA2. (Z25 )
.otz e| ol elv]d A5t E 2ASte EF 12 Aol BiSto] 2FSHAIL.

2. oty EE LYol tisty 2YotA|R,

o]]




